— .

Roll O Question Booklet No
F|pN® vy yfrasr saie
i

dl0 vo ua21 uflen - 2020

OMR No
Jare-uda o

Candidate’s Name Candidate’s Signature Invigilator's Signature
vhardl B M qhed @ s o Friws & wenm?
wm 2 TR

Fftrpam 3% : 150

1. @ sR-gE W PE AoToATe (FH-TE) T

Fam wi

2. @@ A Jom & 150 9 ¥ 90E 0 0% 3% A A

3. R o aF 273 4 50E 9 3 9 e £ (A). (B),
(C),(D).

4. Fzm T4 W ARz T @ AN F

5. g U % B 3am 0z A e A B e B AR
oM = B AN e d%a 1 3 A A I e
o oo

6. o7 #%A w73 3 o weEtaa 0% # 39 T Fe /A

o @z = @ hem w P and S e e
% Ram v %

= ®» @ © ©
wm® @ O )

7. F I AR -EE e wm W AR e %,
7 % 4 38 #E F%A B W WA T A A
Eiof

8. mm%mm—gﬁemﬁmtﬁamﬂmﬁu

o, T-mE % A W e @ e /S o

10. FP-T% FFET T Geia A AR IO %
ah geiE 3 PR B o o a3 R @
o 4 %73 % ofrom wEd A A Bl A 3R @ fe
ofrarfl =4 Ferad #m

1. 7o T B 9 =E T T A

12. wA FEA % P B e A% T A

.L.J

. Answer sheet will be evaluated through computer. For

Do not fold or wrinkle the Answer Sheet.

. There will NOT be any negative marking for wrong

it BES B WU GeEt SaR-UE B W

Write the question booklet No. on the OMR Sheet. “

Question Booklet contains 150 questions, each question
has one mark.

You have to attempt all the questions. Each question
has four option (A), (B), (C), (D)

Use Black/Blue Ball point pen only.

Each question has one correct answer. In case you

darken more than one circle. Your answer will be treated
as wrong.

Darken only one circle for each question as shown in
the example bellow.

Right ® ® © ©
Wrong @ @ O '

Mark your answer in the space provided. Don’t make
any stray mark on the answer sheet.

For rough work use space provided in your question
booklet only.

Do not leave any column blank in the Answer Sheet.

correct evaluation strictly follow the instructions,
otherwise candidate will be solely responsible.

answer.

v aF 7 Friws @ %e A 9 Rew # T 9

WmWémﬂsm%Wﬂﬂhﬁi‘uﬁﬁﬂ%qﬂl-ﬂm@ﬂilﬂﬁﬂigﬁﬁ
7 @ suPriws B g st o gEh ghew g A

|




{2

~

B.A. /1100



ﬁaﬁaﬁﬂ%mgﬁzﬁmﬁam
qER YT A F w7

(A) T B
(B) OMYEH I

(©) ™ F

(D) TR

@ W I | A=A I8 75 e B
(A) TEE

(B) WA

(C) YuEH

(D) g

frg yarg’ (HETHed) B EAHR &
(A) ordrem fie e ‘ERelY’
(B) Aol T

(C) SSiHT TEE

(D) Wl e fRAHT

A T R e B9 A 9-
(A) FEFIHT

~

/’3\

10.

(D) T § B Tl

H oo e B B B T
(A) T |
(B) et

(C) ferehret

(D) SMYRT Pt

‘FET (FEH) B FEHHR & -
(A) =

(B) g

(C) SHEHY T

(D) Hsh e
ERaE (FeE) e s | fewr
T 3-

(A) ST ST

(B) 31gel Wil

(C) @ el

(D) VTR AT

B.A. /1100



1.

8

13.

14.

15.

P & | qi=a o @ -
A) 2

B) T

(C)

D) u

T o B guEs o -
(A) ek vaE S
(B) EYHT yER

(C) ot Wya=

(D)

‘Gmﬁmam’gqﬂﬁﬁ;gwﬁ
I §?

(A) o 9" 7 98 T
(B) 3@t ®= drr B
(C) ¥ & Thet B
(D) T A I &
S 99 e A & IQ Fel A -
(A) @&

(B) HEsih

(C) wd=mdt

(D) HE &

I & fadm a= 3
(A) g

(B) &M

(C) T

(D) W=

16. "R ¥ DF-81 G99 &7

I 48

18.

19.

20.

A
w4

(A) TEilE

(B) IR

(C) #HUE

(D) STHAE

T H A faee B
(A) ™+ &

(B) T +3T®:

(C) 7+

(D) T + 3

Y F @ o Reden @@ 7 AE-E
IAB B

(A) JUHT

(B) ®IH

(C)

(D) IS

FET W H WE 99 -
(A) W

(B) =™

(C) M®

(D) S™E

afvd - oFE T=-gH @ T oY B
(A) g - ST

(B) ST - a1

(C) ¥« - &

(D) & - g

B.A. /1100



21

22

23

24

25,

Shakespeare's Othello s
(A)
(B)
(C)
(D)

a history play
a tragedy

a tragicomedy
amelodrama

"Heard melodies are sweet but those
unheard are sweeter " Who wrote this?

(A) Wordsworth

(B) Yeats

(C) Keats

(D) Shelley

"Paradise Regained” was written by-
(A) Spenser

(B) Shakespeare

(C) Milton

(D) Pope

The song "Vande Mataram" was written
by-
(A)
(B)

Bankim Chandra Chatterjee
Dwarkanath Tagore

(C) Sarat Chandra Chatterjee
(D) N.K. Bose

Which figure of speech is used in the
following?

"I am never alone when alone.”
(A)  Oxymoron

(B) Paradox

(C) Irony

(D) Metaphor

~

26

27

28

29.

30.

-~

A Shakespearean sonnet consists of-
(A)
(B)
(C)
D)

An octave and a sestet

Three quatrains and a couplet
Six ballads

None of the above

Who is the writer of "A passage to
England” ?

(A)
(B)
(C) Anita Desai

Nirad C. Chaudhuri

Salman Rushdie

(D) V.S. Naipal

"Look back in Anger" was written by-
(A)
(B)
(C)
(D)

D.H. Lawrence

Charles Dickens

Henry James

John James Osborne
"Kanthapura" was written by-
(A)
(B)
(C)
(D)

Mulk RajAnand
R.K Narain

Kiran Desai

None of the above

Girish Karnad is the writer of-
(A) Area of darkness
(B) Tughlaq

(C) The sunflower

(D) The last wedding
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31

32.

33

35

Choose appropriate article for the
following sentence-

“This is the book | was searching......"
(A) of (B) for

(C) by (D) in

Which of the following sentence is
correct?

(A) The mango tastes sweet
(B) The mango is tasting sweet.
(C) The mango has tasted

(D) The mango has been tasting
Which part of speech is the underlined
word in the following sentence?
He walks fast

(A) adjective

(B) adverb

(C) wverd

(D) None of the above

Fill in the blank with appropriate
preposition in the following sentence

"HCQ s a cure malana
(A) for B) o
(C) © (D) off

Which of the following sentence is not

correct ?

(A) A football team comprises of
eleven players

(B) A football team consists of eleven
players

(C) Afootbal team has eleven players

(D) A football team 1s made of eleven
players

36.

37.

39

~ ™
6o

Fill in the blank with appropriate
preposition in the following sentence:

"Children travel ....... bus”.

(A) in (B) of

(C) by (D) for
Which of the following words means
"occupying over a wide geographic area
and affecting an exceptionally high
proportion of the population™?

(A) epidemic

(B) pandemic

(C) endemic

(D) None of the above
‘de facto' means-

(A) inreality

(B) mnlaw

(C) forthe sake of

(D) inplace of

Which of the following words is both a

noun and verb?
(A) beleve (8) gift
(C) beehive (D)  proof

Complete the proverb by choosing the
correct option-

“The proper study of mankind is ... . "
(A) Man

(B) Nature

(C) World

(D) Society
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41. Which country is not the neighbour
country of India?

(A)
(B) Bhutan

Nepal

(C) Bangladesh
(D) Iran

42. Whichis the closest planet to the Sun in
our Solar System?

(A)
(B)
(C)
(D)

43. Whichriver is the most undergoes state
in India?

(A)

(B)
(C) Sindhu

Mercury
Venus
Mars

Earth

Ganga

Ravi

(D) Kaveri

44. Which is the largest planet in our solar
system?

(A) Earth

(B) Saturn
(C) Venus
(D) Jupiter

45. Kaziranga National Park is located in
which state?

(A) Assam
(B) Odisha
(C) Jharkhand
(D) Meghalaya
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46.

47.

48.

49.

50.

Where is the Sundarban located? 46.
(A) WestBengal

(B) Odisha

(C) Maharashtra

(D) Madhya Pradesh

What is the capital of Sikkim? 47.

(A) Iltanagar
(B) Guwahati
(C) Gangtok
(D) Kolkata

In which state Rihand Dam is located? 48.

(A) Punjab

(B) Uttar Pradesh
(C) Uttarakhand
(D) Bihar

Which one of the following industries use 49,

limestone as a raw material?
(A) Aluminium

(B) Cement

(C) Plastic

(D) Automobile

In which state Rourkela Iron Steel plant 50.
is located?

(A) Jharkhand
(B) Bihar

(C) Odisha

(D) WestBengal
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51.

52.

53.

54,

55,

On which nver Hirakund dam is located?
Godavari

Krishana

Kaverl

(D) Mahanadi

Which state is biggest jute producer?

(A) Assam

(B) WestBengal
(C) Odisha
(D) Bihar

Which one of the following type of

resource is iron ore-

(A) Renewable resource

(B) Biotic resource
(C) Non-renewable resource
(D) Flow resource
Black soilis found in....... .
Uttar Pradesh
Madhya Pradesh
Maharashtra

(D)

Chilka Lake is located in which state ?

Punjab
(A) Odisha
(B) Jharkhand
(C) Bihar
(D) Meghalay
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57.

58.

Which is the largest coal producer state?
(A) Bihar

(B) Jharkhand

(C) Odisha

(D) Madhya Pradesh

In 2011 which were the highly population
density state in India-

(A) Uttar Pradesh

(B) Maharashtra

(C) Bihar

(D) Delhi

London city is located on which river-
(A) Thames

(B) Seine

(C) Rhine

(D) Po

Which country is rich in production of
cocoa in the world-

(A) Peru

(B) Chile

(C) Brazl

(D) Colombia

Gandhi Sagar Dam is built on which
nver?

(A) Chambal River

(B) Tapti River

(C) Narmada River

(D) Ganga River
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61.

62.

A Production Possibility Curve (PPC) is-
A A straight line parallel to Y axis
(B) Concave to the origin

(C) Convex to the origin

(D) A line parallel to X axis

A consumer buys 50 units of a good at
rupees 4/- per unit. When its price fall by
25% its demand rises to 100 units. What
is the price elasticity of demand?

Ed=1
Ed=2

(A)
(B)
(©)
(D)

Ed=3
Ed=4

63. Median is related to-

85

(A) Positional Averages

(B)
(C)
(D)
Which one is wrong-

(A) Mode = 2 Median — 3 Mean
(B) Q, =size of N/4th item

(C) Positive skewness = X>M>Z

Mathematical Averages
Business Averages

None of the above

(D) Mode = 3 Median - 2 Mean

Which one is more suitable for
qualitative factors like intellectual level

health etc. -
(A) Arithmetic mean

(B) Median
(C) Mode
(D) Harmonic Mean
£3

C
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67.

70

X:12 15 18 23 28 31 100

Y 52 47 42 35 28 21 3
VWhat's the cormelation between following
sernes-

(A)
(B)

Negative Correlation
(C)  Zero Correlation
(D) None of the above

According to census 2011 population
density (person per square km) is-

(A) 350
(C) 430

(8) 327
(O) 382

is the expansion of the law of
S |

Law of Demand

Law of diminishing marginal utility
Law of equi marginal utility

(D) Law of variable proportion

If you have 10 kg wheat and you want
nce against t. How much rice you should
get. this problem will be-

(A)
®)

(C)

Lack of medium of exchange
Lack of store of value

Lack of measure of value
(D) None of the above

if C = 250 and Y = 1000 the APC will
be-

(A) 750
(C) 250

(B)
(D)

075
025
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72

73

74

75

if consumption function is C = b y what
pe the saving function?

will
() S=-C+by

B) S=(1-b)y

c, §=-C+(1-b)y
(D) S=-by

if MPS = % the value of the multiplier
will be-

(A 4

(B) 2

(c) 8

(D) 6

Which one is not a direct tax?
(A) Income tax

(B) Wealth tax

(C) Corporation tax

(D) None of these

The concept of “Inclusive growth” came
in which plan?

(A) 4" plan

(B) 8"plan

(C) 10"plan

(D) 11" plan

Which one is not an instrument of fiscal
policy?

(A) Change in taxation

(B) Open market operation

(C) Change in public expenditure

D) None of these

a
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76

78

79.

Ayushman Bharat came into force on-
(A) 23" September 2018

(B) 15" August 2018

(C) 2" October 2018

(D) 1% July 2017

‘Capital intensive or labour intensive
bdwuogy'nreia(edwmmofﬁ\e
following economic problems?

(A)  What to produce?

(B) Howto produce?

(C) For whom to produce”?

(D) When to produce?

Money supply does not consists-

(A)  Currency with public

(B) Netdemand deposits

(C) Other deposit with RBI

(D) Stock of money held by the
government

The money whose commodity value is
equal to its face value is which type of
money?

(A) Fiat money

(B) Credit money

(C) Full bodied money

(D) Fiduciary money

An exclusive right or licence granted 1o
a company 1o produce a particular output
under a specfic technology is called as-
(A) Patent Right

(B) Production Right

(C) Copy Right

(D) Sefng Right

76
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81.

82.

83.

85.

Who wrote the book 'society’'?
(A) Mead

(B)
(C)
(L)

“Sociology is about social relationships".
Whose statement is this?

(A)
(B)
(©)
(D)
Marrying a girl in a caste higher of her

Comte
Pareto

Maclver and page

Maclver and page
Gillin and Gillin
Giddings
Durkheim

own, is called-
(A)
(B)
(C) Hypergamy
(D) Hypogamy

Which of the following factor is
responsible for poor status of Muslim

Exogamy

Preferential marriage

women?

(A) Parda System
(B) lliiteracy

(C) Religious supremacy of gents

(D) Allof the above

Which one of following is the age of

Grihasthe Ashrama-
(A) till 25 years

(B) 25-50years
(C) 50-75years

(D) 75-100 years
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85.
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86

Who has said “We are the members of
associations not the institutions"?

(A)  Gillin and Gillin

(B)  Ogbum and nimecoff
(C) Maciver and page
(D) K Davis

87. 'Dowry Prohibition Act' enacted in the year-

88.

89.

90.

(A) 1960

(B) 1061

(C) 1962

(D) 1963

Who write the book ‘What is sociology'-
(A) T.B.Bottomore

(B) N.Jayaram

(C) Alexinkles

(D) Comte

Who has given the concept of material
and non -material culture-

(A) Sorokin

(B) MaxWeber

(C) Pareto

(D) Ogbum

What is Muslim marriage-
(A) A Sacred Sanskar
(B) A Contract
(C) (A)and (B)both

(D) None of the above
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91.

92.

93.

95.

Who has propounded the Theory of
cultural lag'?

(A) Comte
(B) Gillin and Gillin
(C) Pareto
(D) Ogbum

Which ashram is called the union of
dharma, artha and kama-

(A) Brahmachary
(B) Grihasth

(C) Vanprasth
(D) Sanyas

Who among the following is advocate of
'‘Formal School of Sociology'?

(A) George Simmel
(B) Auguste Comte
(C) Emile Durkheim
(D) T. Parsons

Which of the following is not an element

of community?

(A) Territory

(B) Wefeeling

(C) Cultural diversity
(D) Selfdependence

Which among the following is a
dissociative social process?

(A) Accommodation
(B) Co-orporation
(C) Competition

(D) Assimilation

91.

92.

93.

95.

ar

Re anam & od, Ik o FH B ™
& T 87

(A) T

(B) T

(C) TSI

(D) ¥4H

Prefeiad & § 9 99 9 B @EIES
qeRE & g9EF o

(A) s foEa

(B) 3T FR

(C) % gaH

(D) . 9™

Pt & -1 ‘T W o T 8
(A) =T

(B) BH % AGAI

fr & & P91 T e GHieT
ufesar 27

(A) TEERH

(B) T&am

(C) wfcreqet

(D) HTEHH
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97

98.

99.

100.

When the word 'Sociology’ was

invented?
(A) 1819
(B) 1838
(€)

(D)

1914

1947

What is the basis of caste-
(A)
(B)
(C)
(D)

Dharma

Birth

Prestige

Ritual

Joking relationships are found between
whom-

(A)
(B)
(€
(D)

Brother-in-law and sister in law
Father and son

Mother and daughter

Father and daughter

Which is not included in primary groups
as described by Cooley-

(A)
(B)
(€)
(D)

School

Family
Neighbourhood

Play group of children

Which among the following is not a
primary kin?

(A) Father
(B) Mother
(C) Uncle

(D) Brother

97

98.

99.

100.

ag

Sociology) 1% # @ A
i’
(A)
(B)
(C)

1819
1838
1914

(D) 1047

(D) FT=H
P AR

() i o

®) frm @

(c) @@ T

() foem @@ TR
ﬁamaﬁamq@ﬂﬁaﬁﬂ—m
Hfeffera et -

(A) =

(8) ufEr

(C) vgH

(D) ==t & T T

Fretfefag & @9 wafs T T8 8-
(A) e

(B) =l

(C) drem

(D)
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101

102

103

104

105

Which deity did the Indus Valley people
worship most-

(A)  Mother goddess
(B) Usha

(C)
(D)

Pashupati
Vishnu

Which Veda referred to cvilization of
early vedic age-

(A) Atharva Veda
(B) Rigveda

(C) Samveda

(D) Yajur Veda

What was the early name of Mahavir
Swami?

(A) Siddharth
(B) Mool Shankar
(C) Vardhaman
(D) Narendra
Buddha preached his first sermon at-
(A) Bodhgaya
(B) Kapilvastu
(C) Kushinagar
(D) Samath
Who wrote indica?
(A) Skytax

(B) Phini

(C) Anstobulus

(D) Megasthnes

101 Riy wé& & s R ¥ Awa # 0
waifes H@ &7

(A) =y R
(B) I
(C) wufy

(D) fowy
102 8 [ | wivs e oo & 7=
B ®?

(A) o
(B) %
(C) wa%
(D) TP
103, wordi w@rdt & srofs AW F o
(A) foard
(B) & A
(C) i
(D) &

104 g% A IO oW IR FE Ra a-
(A) awmg
(B) Wiy
(C) FTR
(D) #HTA™
105. e e foredt-
(A) wtde
(B) ferdt

(C) ofteragem
(D) Areadtn
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106. Towhom is the Gaytr Mantra dedicated- 106.
(A) Rudra (A) -
(B) Soma @
(C) Savita (€) e
(D) Poosan (D) o
107. Yuan- chwang came to India duringthe  107: A e AETRA A e T A
reign of- A) giad
(A) Harshvardhan ® e
(B) Chandraguptll & _— -
(C) Bhojparmer
(D) Dhammpal (D) T
108. Which of the following is incorrectly 108 Preffefiaa # #e-a1 3 g 74 &
matched- T T
Dynasties Capitals A) _— oLt
(A) Chahamanas Ajmer
(B) Paramaras Dhara (8) T >
(C) Pallavas Madurai (C) T q@:
(D) Chandelas Khajuraho (D) & T
109, The Jataka tales deal with stories about-  109. 3 o, e e 87
(A) Buddha (A) F&
(B) Mahaveer (B) WerEN
(C) Ashoka (©) FMB
(D) Rishabh Dev (D) FTHA
110. Mira Bai was a queen of the- 110. drvae fed e A T A
(A) Sisodiya dynasty (A) ToEfa aeEe
(B) Chauhan dynasty (B) e TEd
(C) Rathore dynasty (C) TR T=rEd
(D) Kachvaha dynasty (D) FeArE e

P
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111. Organise the following into chronological
order and select the correct answer from
the following codes-

1 First battle of Panipat

2 Battle of Ghagra

3 Battle of khanawa

4 Battle of Chanderi

(A) 1243 (B) 1,342
(C) 14,23 (D) 4,321

112. Which one of the following pairs is
incorrect-
(A) 1l Battle of Panipat - 1556 AD
(B) Battle of Talikota - 1565 AD
(C) Battle of Plassey - 1757 AD
(D) 111 Battle of Panipat - 1764 AD
113. The city of Jaunpur was founded by-
.~ (A) Sikandar Lodhi
(B) Akbar
(C) Ibrahim Shah shargi
(D) Firoz Shah Tughlag
114. Who was the founder of Srinagar-
(A) Chandragupta Maurya
(B) Lalitaditya
(C) Harshvardhan
(D) Ashoka
115. Who was responsible for making
Sikhism a militant force 7
(A) Guru Hargovind Singh
(B) Guru Teg Bahadur
(C) Guru Govind Singh
(D) GuruArjun Dev

111 Preffafaa @ wmEar A %1%
wﬁgﬂﬁmm{eﬁ#ﬁﬂﬁmw
TG Hi-

1 g9 999 g%

2 g7 H GE

3 G # JE

4 Fh T GE

(A) 1,243 B) 13472
(c) 1423 (D) 4321

112 Fer & Ba-an 3@ gafoa T8 R
(A) T # fad 3 - 1556 €0
(B) A # gE - 1565 o
(C) @ @ g5 - 1757 40
(D) wHIE # FEa g - 1764 %o

(B) F1FAT

(C) zAMEH 9 9%

(D) fFrrame JTAH

114, AT F HEGE DA G-

(A) = A

(B) @ferariaed

(C) wdada

(D) HME

115, fodt & 6\ 75 A o ga # Af 96
% = ¥ faaha -
(A) 75 BT fHE
(B) 5 A TR
(C) 75 M= fae

(D) 6 7 34
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116

17.

118

119.

Which one of the following is correctly
matched ?

Battie of Plassey

Enghsh Vs Swa-ud-daula
Battie of Khanwa
Babar Vs Ibrahwm Lodhi
(C) 11l Battie of Panipat -
Maratha Vs Aurangzeb

(D) Battle of Chausa
Sher Shah Vs Akbar

(A)

(8)

The first Indian Woman President of

Indian National Congress-

(A) Annie Besant

(B) Saropni Naidu

(C) Nelisen Gupta

(D) Swucheta Knpalani

Which one of the following pairs is

incorrectly matched ?

(A) Nana Sahib - Kanpur

(B) Khan bahadur khan - Lucknow

(C) Bakht Khan - Delhi

(D) Kunwar Singh - Arrah

Which one of the following is incorrectly

matched ?

(A) Bal Gangadhar Tilak - extremist

leader of Maharashtra

Gopal Krishna Gokhale - Moderate

leader

(C) Lord Curzon - Partition of Bengal

(D) Bipin Chandra Pal - Moderate
leader of Bengal

(8)

116 P # B gm gl 7

118.

119.

YN
22

(A) @ W JE -
st vs gl

(B) wE W GE -
a7 vs fen #h

(C) @A & ¥ 3% -
w7721 vs A

(0) %@ = 5% -
ATIE vs FFAT

fr= & Sm-m gm gifem 7é %7
(A) 1 TEA - TAY
(B) @H FWZY @ - TETS
(C) ¥= @ - Ran
(D) FA7 2 - s
e & d=-m gm gifem T8 77

(A) == TIET A - HEg % aTA
am

(B) W= 3o @A - AT A
(C) g T - A= faaH
(D) fafm 9z oF - @7a % T A
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120. Which one of the following is incorrectly 120 fopsy & v g™ gferer it B7

matched-
- R
(A) Brahma Samaj Raja - Ram Mohan (A) #m fH - T i

Roy
) ek sitder - e Baarft
(B) Aligarh Movement - Badruddin
Tyabji ©) b g - o T

(C) Prarthana Samaj - M.G Ranade
(D) fawar grfhar sfufras 1856

(D) Widow Remarriage act 1856 -
Ishwar Chandra Vidyasagar et g% famarm

121. When was Indian Constitution 121 st dfaer @ fwfor @@ g

constituted?
(A) 26 sradl 1950
(A) 26" January 1950

(B) 26 =L 1949
(C) 11 %@ 1948

(D) IndE F A P A

(B) 26™ November 1949
(C) 11" February 1948
(D) None of the above

122.ﬁﬁmw%mﬂﬁﬁ%mm

122. Who was the chairman of Drafting

Committee of Constitution Assembly- a7
(A) B.R.Ambedkar (A) .3, SfAEH
(B) Dr. Rajendra Prasad (B) 3. [WIx FE
(C) Dr.B.N.Rao (c) . f.ga. 1@
(D) K.T. Shah (D) &. &. a8
123. Who constituted Indian constitution? 123, WX & G Brea s
(A) Drafting committee (A) wrEq afufa
(B) B.R.Ambedkar B) &I SfgHT
(C) ConstituentAssembly (C) wwm &
(D) None of the above ©0) i A ey
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124 Which is called the soul of Indiar

constitution’?

(m undmmental fights
(13) Preamble

() Directive prif ciple
(1)) None of the above

126 What is right to religious freedom?

(A) Legal right

(B) f undamental Right
(C) General Right

(D) None of the above

126, When was Jammu and Kashmir made

union terrtory-
(A) 31 October 2019
(B) 1 November 2019
(C) 5 August 2019
(D) None of the above
127 What is the QuO _status of Laddakh-
(A) District
(B) State
(C) Union Territory
(D) None of the above
128 Who is the £ x-Officio Chairman of Neeti
Commission?
(A) Prime Minister
(B) President
(C) Chief Justice of India

() Fwance Minister

(c) T i T
D) T B T
128.%@%%@@%2&1%%?
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129. Who appoints the chijef COmMmissg
election commission?

(A)
(B)
(C)
(D)

ioner of

Chief Justice

Prime Minister

Law Minister

President

130. Which of the following is not fundamentg|
right-
(A)
(B)
(C)
(D)

Right to Freedom

Right to Equality

Right to Property

Right against Exploitation

131. Of which age of the child directive

principles provided free and compulsory
education-

(A)

(B)
(C)

(D)
132. Who is the Chief Justice of India?
(A)
B
(C
(D)

14 age
16 age
18 age
15 age

Ranjan Gogoi
Deepak Mishra

)
) S.A. Bobade

None of the above

133. How many articles are in Indian
Constitution?

(A) 395
(B) 444
(C) 396

(D) None of the above

129. Frafert ot & gen amges 1 A Figen
HE 7

(A) &1 =gy

(B)  werwh

(C) A w:=h

(D) sgufey

Tt & & @ Aers e 8t 27
(A) ST B SRR

(B) w9FEl & i

(C) Wy & R

(D) 97T 3 fawe st

Hifr PRy o B oF 9% @ Tt B
b G ofvard R e e 7

(A) 14 =
(B) 16 g
(C) 18 d
15 a9

Tt e F e AR P ¥
(A) &

(é) A s

(C) TH.T. =2

(D) T & B 7

AR dfewe J g feaw orgeds ¥
(A) 395

(B) 444

(C) 396

(D) & & H T

130.

131.

(D)

132.

133.
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134. How many states are in India?
(A) 25
(B) 28
(C) 26
(D) 29
135. Who is the Chairman of Rajya Sabha?
(A) President
(B) Vice President
(C) Prime Minister
(D) Chair Person of Lok Sabha

136. Which of the following is appointed by
the President?

(A) Chair Person of Finance
Commission

(B) Vice President of Neeti
Commission

(C) Chief Minister of Union Territory
(D) None of the above

137. What is the age of Franchise in India?
A) 21
(B) 20
(C) 18
(D) 19

138. What is the basis of allotment of seats

of states in Lok Sabha?
(A) Population

(B) Area

(C) Language

(D) Poverty

Qe

134.

135.

136.

137.

138.

ara A g R o ¥

(A) 25

(B) 28

(C) 26

(D) 29

e & aEfa B B 37
() Tl

() ST

(C) SuFEER

(D) THET ST

Frefefa 3 & et Frafh Tsrefy s
¥

(A) o omaN @ o

(B) M AT H eHE

(C) HuUg &3 & qeawd

(D) T § FNg TE

ARa § AaER # oy e #7
(A) 21

(B) 20

(C) 18

(D) 19

A & oAt @ @ @ e B
YR 9T B 87

(A) STHEE

(B) &=

(C) wT

(D) T
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many members are nominated in

3 gabha by the President?

Rajy@
w10

(C) 20

0) 12

0B the Governor of Uttar Pradesh?
I .

p RamNak

9 anandi Ben Patel
{

0 Lalji Tandon

0)

. of the following state governments

uf Mn“!ve“ 4 the Ayush Kavach app that will
U

provide health-related tips and

None of the above

qformation about ayurvedic medicines
amid the COVID-19 pandemic?

(A) Punjab
(8 Gujarat
() Maharashtra
D) Uttar Pradesh

‘;1 Which of the following has been named
% India’s ‘Best Swachh Iconic Place’

rcently?

A Golden Temple

B) Mata Vaishno Devi Shrine
0) Kedamath Temple

0 TajMahal

.

P

139, gl wogay § fpad gaEd B A

140

141

142.

Har B?
(A) 10
(B) 15
(C) 20

(D) 12

I BB H Ty B B?

(A) THEF

(B) Il T wa

(C) <l 229

D) T & ¢

P &% & R g e X oy
FI9 U F FAETT AT S COVID-19
T % A9 wea aEd gt o
TYARF Tt B aX F A wEE
HI?

(A) G

(B) Tm@
(C) wHerg
(D) TEX We;

Frfofed & 4 R a9 & & s 3
AT W AEEE @F F '
T e wr ¥7

(A) o HRY

(B) HIAT IwN IF =
(C) =AM HRY
(D) d=HeEw
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143, Whois the author of the book "The secret
Diary of Kasturba"?

(A)
(8)
(C)
(D)
144,

Neelima Dalmia Adhar
Aruna Chakravarti
Som Sharma

Narendra Verma

Name the Super Computer that was

unveiled in IIT- BHU by Prime Minister
Narendra Modi-

(A)
(B)
(€)
(D)
145,

Param Shivay
Aaditya
Sahastra

Param Yuva 2

India’'s first- ever National Police

Museum established in which city?

(A)
(8)
(C)
(D)

Chennai
Delhi
Nagpur

Kolkata

146. With which company CBSE has

partnered to build AI (Artificial

Intelligence) learning for schools?

(A) Microsoft India

(B) Google

(®)
(D)

Infosys
IBM

143, "% ¥me T NG Hrar & 3

144.

145.

146.

@LY

Aad b B

(A ifern s sar
(B) 7O =

(C) dm g

(D) & 7

I YW FYLT F A0 FAGY Py
garsl WRE AN A NT- BHU §

arraer o an?
(A) T REm
(B) o

(C) we&

(D) 9 g 2

WE # GEe TS g e R

gex ® et gmm?
(A) a1
(B) fRsh

(C) +FIgY
(D) I

CBSE I &t & fw Al (zhm afs)
s & Frefer 3 Py et @ e

frar ®?

(A) R e
(B) T

(C) IR

(D) omEEH
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hatis the narme of India's Z2nd mission

Wi

47 ”
1 o land O Moon?

A chandrayaan 1

(B)
(C) Chandrayaan 3

chandrayaan 2

(D) Gaganyaarn

p garth day was celebrated on which
1 .

date?
A) 21 April

@) 20ApT
() 22April

() 19AprI
149, Which Indian short film won 2019 Oscar

award in the category 'Best short

documentary'?
(p) JayMata Di
(B) Period End of Sentence

(C) Half Ticket 2

(D) Juice
150. Who has won the Rajiv Gandhi Khel

Ratna award 20197
(A) Sakshi Malik

(B) Mirabai Chanu
(C) Bajrang Punia

(D) None of the above

147 ey qr JATA AA

148,

149.

150.

QL

e # gt AT T
oy w7

(A)  HzgA

(B) =4 2

(C) &g 3

(D) Tirar
mmmmﬁmw’?
(A) 21 3

(B) 20 Ve

(C) 22 3@

(D) 19 sha

g wredra wy foeem 3 A @y gate
ah # 2019 F ST grEHT Al
(A) 514 HEr &

B) frfaz 4z o6 &

(C) &% feme 2

(D) =H

g Th B T gET 2019 e
ofrer 37

(A) @R Hfew
(B) HrEE A
(C) @ g
(D) ITIRE & & HE T
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8.

Tl T 97 A B ddEs A -
% ot o o PR @ G B0 a e s A

m-mamaagaamaﬂ@w,w,m-m%ﬁmmw
g @ # st T8 2

A FE-FriwE aa ge-gRaE T T (.07 3. 37?3) Ra =
e wE B W i FH G} @ T S ST 9y
W—ﬁﬂﬁﬁ%ﬁhﬁaﬁﬁﬁ%laﬁmﬁqﬁm&fﬁaﬁmm
7 e AT S e IuS frew M FEAE BT

mﬂqﬁﬂémﬂwmgmmﬁgmmmﬁ@wm
ar 38 apErg difa e smam

7R ol o 99 3 fQ OF & e omT 3a1 B A 98 P f% A8 fa S
Faf A HE OF S9gA Smd H & 999 HN died|

a4 7% P gE-gem 3§ P e o & e e B e Fe W
TEh T % A 7S B e # agAta Aé B e gw-gRes & it 3
FH F14, 7B FF T 1 IE @i F B agHa TE# 2

weifaerg a4 ohafddl % grais 1 9ar UF 999 B9 8 dAaq # hafata &
A 4% ggE G234 £ B o s owe 9d 3, @ wefamem @
orEiF e &0 a9 8

% 4 e oitan 79ra B9 3 A% Fa-fries @ SEa & & oie-am § ant
Eiouf
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